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QUESTION 1

Which URL will perform rollup of the activity stream?
A. lactivitystreams/@me/@all@rollup

B. /activitystreams/@me/@all@group

C. /activitystreams/@me/@all?rollup=true

D. /activitystreams/@me/@all?rollup=group

Correct Answer: C

QUESTION 2

What feature must an OpenSocial API Server support to be compliant?
A. the REST protocol

B. Java 1.6 and above

C. the File Transfer Protocol (FTP)

D. internationalization via properties files

Correct Answer: A

QUESTION 3

When posting to the microblog. the body of the POST message is an ActivityEntry object. Which field in the ActivityEntry
object is mandatory?

A. userid

B. content

C. message

D. ActivityEntry object can have no properties.

Correct Answer: C

QUESTION 4
A developer can only use which method to authorize users in an OpenSocial gadget?

A.LTPA
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B. SAML
C. OAuth
D. basic authorization

Correct Answer: C

QUESTION 5

OAuth does not require a specific interaction pattern which makes it ideal for which reason?
A. For cases where OpenlD is required and available to the consumer.

B. For cases where OpenlD is not required but is available to the consumer.

C. For cases where authentication credentials are unavailable to the consumer.

D. For cases where authentication credentials are always available to the consumer.

Correct Answer: A
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